googogod

142001 000000040 00O O

20150 120 30

1 OOOOOgdg
1.1 FourierO O

0000000000000 00000 V@) O0OD0DO0000000 FouderOOOOOOOOOOOO
Ooo0oO0OOoOOoOoOoOOoOoOOOOOOOO0OOO0O0O0O00 Fowrier0O0OoooOoOoOOOOOOO

V() = [ V() exp(—2rivt) dt (1)
gobooboooo
1 * . )
V(t) = %/_ V(v) exp(2mivt) dv (2)

Fourier 00000000000 DOOO0ODODOOODOOODOOOODOO

12 O0D0OOO0OO

o000 V¢ ooo 00000 V(t+7)0ODOODOODDOOODOODODOODOODOUODOOODODO
000000000 C(r)000000o0ooooooo

Clr) = lim ~ / Y v ar (3)

1.3  Wiener-Khintchine O O O

0000000000 V(t)O Fourler 000D O0OO0ODOO

Clr) = lim ~ / R [;ﬂ /_ o:o V() exp(2m'u(t+7))du} dt

T—oo T —T/2

o T/2
= — lim —/ V(v) exp(2mivT) [/ V (t) exp(2mivt) dt] dv

—00 —-T/2

T —=ocoO V*(v)

1L V)V () ‘
=5 ) lTlgréo —r exp(2mivT) dv
=FTS(v)] (4)

ogooooogao S(V)::limT_,ooV*(V)V(u)/TDDDDDDDDDDDDDDDDDDDDDDDDDD
000000000000 Fouwrler DDOOODOOOOO Wiener-KhintchineOOOODODODO



14 JO0O0O0OODOODOODOODOOOO

0000000000000 0D000000000D00O0O0ooD0OO Vi(e) O Vo)) D00O0O0ODO0O0OO
oobobobooobooboooooooooooboobooooboog

T/2
Cra(r) = lim ~ / Vi(6)Valt + 7) dt (5)
Jdodoooogooonooooooooooooogoogno

512(1/) = FT[Clg(T)]

o V0T

1.5 convolution
000000 X;, X, 0OODODOOODODOOODODOOoOooDooooood
Prob(z < X3 < 2 +dz) = Pi(z) dx, Prob(z < X3 < z +dz) = Pa(x) dx (7)

000000000000000000 X3=X;+X.0000000 Ps(x)0

P3(x) = /OO Py (2 )Py(x — 2")da’ =: Pi(x) * Py(z) (8)

oo

00000000000000 (convolution) 0000000000 O0OOOD0OOOOODOOOOOOOO
00 fxg0O Fourier 00000

FT[f(t) * g(t)] :/:)o /:)O f(t)g(t —t') exp(—2mivt)dt’ dt
_ [ ") exp(—2mivt!) { / T gt — ) exp(—2miv(t — t)) dt| d¥

—0o0

= /_OO f(t') exp(—2mivt’) dt’ /_00 g(7) exp(—2mivT) dr
= FT[f(t)] FTg(t)] (9)

000000000 Fourier 1000000000 OOOOO fgO FourterOOO OO
FT / f()g(t) exp(—2mivt) dt

_ [ (0 exp(~2iv) {;ﬁ / T G exp(2miv't) du’} dt

:i - [/ £(1) exp(oo2m(1/—1/))dt] v’

/ GW)F(v—v)d/

gFT[ g()] * FT[f(t)] = ﬂFT[f(t)] « FT[g(2)] (10)

000000000 Fowrdier 000000000 DOO0OOOO0ODODOO0ODOOODOOODODOOODODOO
0000000000000 00D000000 (Poins Spread Fuction: PSF) 000000000 DOOO
g0o00O0oO0OO0OOO pPSFOOOOOOOOODOOO



2 ODOODOOd
21 00O

0000000000000000000000000000000000000000000 1, mO0O
00000000000 n0000000000000000000000000000000000000
00000000000000000000000000000000000000X0000 A =0,00
$=00000Y00N=7/2,¢=0000000000000000 Z00000000000000
000000000(,mn)000000000000000000 (z,y,2)000(z,y,2)0 (X,Y,2)0
000000000000000000000 ,0000000000000000 PO (z,y,2)000
noooo (P, P,P,)00(X,Y,Z)00000000 (Px,Py,Pz) 0

P, Px
P, | =Ry (=0)Rz(0) | Py (11)
P, Py

000000000000 R, Ox00000000O0DDOOOOOO=GST+N\,—a=LST—-—aOO0OO
g0000000o00oo0ooooooOooooooDOo3ooobOOobO0obO0ob0obOOob0obUo 2000000
goooooOoOopooOo0obooOo0boOooUOOoDOOoDOOU0 200000DOO0O0ODOOUODDOOOODDOO
oooooooooooo P, PR,O0ODOCOOOOODOD DO D=PR,-P00000000000O00O0ODOO
gbooooooboobooboboooooooooboboboo

22 0OO0OO

coboboooooooboobooooboooo woOOooDOOoOoOoOoOoOooooboooooooooo soo
O00ooo0o0ooo0o0oooo0o0oooo0o0ooooo0n r, 0000

1
Tg=-D-s (12)
c
0000000000000 E(t)=Egcos(2mpt) 0000000000 D0O0O0O0ODOOOOODOOOO
Vi(t) = a1 Eg cos(2mvpt), Va(t) = asEy cos(2mvy(t — 74)) (13)

obbDae,ace D000 ooooobbooobbboooobboooobbbooobbb OO
gbooooooooobobobooooog

T/2
Clg(’r): lim */ Vl(t—Ti)‘/Q*(t—T)dt

1
:§a1a§‘E0|QCOS(27TV0(T—TZ‘+TQ)) (14)
Ooooooooa ClQ(T)D rO000000000O000O00O0O0O000O000O00O0000O00O00O00O000AO0

OO0 intensity 000000
23 00000000000
0000000 0000 FourierDO0O0O0O0OOO0ODOOOOODODOOO Slg(l/)DDDDDD
Su(u):/ Cha(7) exp(—2mivT) dr

1 .
= Zalas |E0|2 d(v — vy) exp(—2mivy (1; — 74)) (15)



0000000000000 E(v) = Ey(v)exp(i¢(v) 00000000000

Vi(t) = a4 /_00 Ey(v) expli(2nvt+¢(v))] dv, Va(t) = as /_OO Eo(v)expli(2nv(t—T74)+¢(v))] dv (16)

oobobooooooocooboocooooOoooon

Cr2(7) = a1a; /_Oo lTlgnoo E(V)TE*(V)] exp(2miv(T — 7 + 74)) dv (17)
S19(v) = ara} B3 (v) exp|—2miv(Ti — 7)) (18)

gobobobooooooooooooobooooooooooooboooooooooooooooooooag
ooooocooon

24 DOOOO

000000 (l=m=n=0)000000000000000000O0O0O0 ApOODOODOODOO

_ 99
Ag = ZIAl

ar,

=21 —2 Al
Y4 al

_ 2. 98

c ol

D C;SQAZ —: 2nuAl (19)

0000000 «000000000000D00D0O00D000DO00O0 1lrad000000000O00O0O0O0OO
gooon

= 4T

25 ODO0O0OODOODOOOOODOD

0000000000000000000000000000000000000 20000000000
00000000000000 Ey(w)é(l—1h), Bx(v)é(l—1,)00000000000000000000
000000000000000000000000

Vi(t) = a1 (E1(t) + E2(t),  Va(t) = ao[Ba(t — (15 + 7g1)) + Ea(t — (74 + 742))] (20)
ddddodoooooooooboooboooooooooo
Cia(7) = O}y (1) + 13 (7)
— gl /°° - Ey(v)Ef (v) exp(2miuly) + Eo (V) E3 (v) exp(2miuly)

T—o00 T
S1a(v) = S5 () + 513 ()
= a1a3[E?(v) exp(2miuly) + F3(v) exp(2miuly)] (22)

exp(2mivT)drv  (21)

00000000«00000000000000D0000 NOOOOOOoOoOOoOoooooooo

N
Slz(V) = Z Sk(V)
k=1

Z

= aia} Z E2(v) exp(2miuly)
k=1

N
= aya3 Y Ip(v,1) exp(2miuly) (23)



gboooooooboboboboooog
Slg(u):alag/EQ(z/,l)eXp(Qmul)dl
:ala’z‘/l(u,l)exp@ﬂiul)dl (24)
00000000 I(y,1)0 Fowier 00000000 Sio(v) D00D000000000000S12(v)0 u
00000000000 o00oo0 V(r,w) OODOODODOOODOODOOODOOOO
26 ODOOOODO

2000000000000000000000O0O00O00O0O0O0OO0OO00 (coherence) DO DO

|S12(v)]

coh(v) = VO] (25)
D000 0<coh(r)<100000000000 s(t)000000 my(¢), nx(t)0000000000
Vi(t) = ai(s(t) + ni(t)),  Va(t) = aa(s(t) +na(?)) (26)
Oo0000obo0ooooooooooon
S1(0) = an(SW) + M), Sa(v) = as(S() + Na(v)) (27)
gdoooooooooooooo
cohlv) = Izllclljll NEOEOE N1<y|>fv(§ ()Ji E&ZJS*@) T NN ) (28)
oooooo N1:NQZODDDDDDDCL:|a‘eXp(i¢)DDDDDDDD
(coh(v)) = [(exp(i(¢1 — ¢2)))| (29)

O000000000000000000000 GaussianDO0OOO0OOO00O000O GaussianOOOOOO

27 DOOOO

goboobobooboobooobooboobbooboobbooboobbooboobbooo
gbooooooobgbobooo
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